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Note:  Write answers to the questiors on the objective answer sheet provided. Four possikle answers are given. Which
answer you consider correct fill the corresponding circle A,5,C or D in front of each yueation with marker or ink on
the answer sheet provided. i
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1.1 The time deposits are callsd: O FUAe 1.1
(A) Metallic money PR {B) Paper roney By
(C)y  Near money s (D)  Legal money PAr
2. International economic recession occurred in: 452509 ,@,/‘,:(}g,ﬁgb 2
(Ay 1945 By 1939 (Cy 1990 Dy 1976
3. To increase profit a firm trizs to minimize, w.;‘:;'i/ SN }rgwgf I ﬁ.wm.,q,rf/’;éi,wf,étw 3
(A) Revenue (o (B) Cosi Ay (C) Demand % (D) Supply a5
4. The economic laws are: el i 4 ‘
(A) Exact ¢  (B) Permanent 1 (C) Conditional 1> (D) Quantitative S ]
5. When marginal utility is zero, the total utility is: :f;,b’yzumg}?%tw}ﬂumfw w5
(A) Maximum  wljeest; (B) Minimum d ;;;,(r (T) Zero P (D) Negative g
6. FElasticity of demand of ---- -- salt is more than unity. ._%éno)gjg.{}b’lm{gd;{.ﬂqfwwww 6
(A) Salt L (B) Ghee 2 (C) Car & (D) Flour 67
7. The elasticity of perishable goods is : e lnasbliilis
(A  Zero P (B)  Greater than unity osh jee 80
(C)  Less than unity F et (D)  Infinite 924l
8. When AC curve is going down, the MC curve is: :g‘alrnvs’hjjwE’?Lr{u&g%f_,bﬁﬁ_bww‘fe 8
(A) Above 4o (B) Below 2 (C) Parallel gi# (D) Horizontal N
9. The demand of factors of production is: :%,valbgf y‘%gﬂ‘tﬁ 9
(A) Direct =-uiz (B) Indirect Lis, AC) Positive o (D) Negative &
10. Transfer payments include: :%Jgﬁu:u,.:? s .10
(A)  Stipend H s (B) House rent VI
(C)  Car fare 74 (D) (<) Rent of land A3,
11. The rising trend of prices is called: e bl Yot r Ly 11
(A) Inflation ety (B)  Deflation Iy
(C)  Velocity of money st (3} Quantity of money L4 B
12. The sun spot theory was presented by: 4 J_‘%s }«/ KuseadBT 12
(A) Adam Smith PRl (B)  Ricardo Lussis
(C)  W.SJevons IREN- P (D)  Robbins LAl
13. The loan _providing institution to correct the balance of o oillsgn s Jl L //-,-,gjuif bleptd 13
payment 1s:
(A)  Islamic Bank o LUt (B)  World Bank ot
(C) LMF O e () Asian Bank Ll

14. The most important source of revenue of govt. Is: :%,.gpslzg,.,,,./m,d"fyﬁ 14

(A) Fee - (B Taxes uﬁ (C) Local Rates Jofle (D) Fines 22

15. The cannon of taxation in which the govt. . puf{s5d Sl el /1 Farf g y,,du,,gugueﬁd,,,” 15
bears very small cost of collection: '

(A)  Cannon of equality Gilglaso Joual (8)  Cannon of economy oy LS Jguol
(C)  Cannon of elasticity SilaSad Jaol (D)  Cannon of productivity  Slsbw Jowol
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Section - 1
2. Write short answers of any six parts from the
fellowing:-
(i) Give definition
(i1) What is meant by scarce resources?
(i11) Define total utility.
(1v) Define consumer behaviour.
(v) Write the names of raethods of measuring oly
demand.
(vi) Define demand.
(vii) Define suppiy.
(vii1) What is meant by extens:on of supplv’

feconomics by Kobins.

(ix) Give two examples of perishable goads frow practical
(6x2=12)

life.
3. Write short answers of any six parts from the
following:-

(i) What is meant by average fixed costs of production?

(ii) Define average revenue of firm?

(iii) Prepare the schedule of law of constant retiwms.
(iv) Define the law of increasipg costs.

(v) What is meant by internal gconomies of scale?

(vi) Differentiate between normalloss and abnormai loss

of firm.

(vii) Does a monopolist firm aiways gain abnormal profit?
(viii) Write down four characteristics of land-as a factor of

~_ productions.
(ix) Write down four factors of enhancing méb#iity of

labour.
4. Write short answers of any s3ix parts frow the
following:-
(1) Define net national product.

(i) What is meant by transfer paymenis?
(iii) What is meant by multiplier?

(iv) What is meant by bill of exchangg?
(v) What is meant by a crossed cheque?
{vi) Define inflation.

(vii) What is meant by recessica?

(viii) Define imports.
(ix) What is meant by indirect ax?
Note:- Answer any three guestions from the

following:-
5. Define Prof Robbins definitior: of Econoraics

and explain its main points?
6. EBExplain the law of increasing 1eturn with the help of

schedule of diagram.

7. Explain in detail the theory of Marginal Productivity.

8. What is meant by Inflation. Explain its causes.
9. Define Cannons of taxation.
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